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63. Inflation The following graph shows the approximate value

of the Un_i)!cd States C'onsu;ncr JF:\'K‘C Index (CPI) from 64. Inflation The following graph shows the approximate value
December 2006 through July 2007. ; i of the US. Consumer Price Index (CPI) from September 2004
('& 3 - through November 2005.3
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The approximating curve shown on the figure is givenby ___ ’J-\ The approximating curve shown on the figure is given by \ K 14 #
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where ¢ is time in months (r = 0 represents December 2006). where 7 is time in months (1 = 0 represents September 2044). q 5570 '
a. Use the model to estimate the monthly inflation rate in 1 ,_‘ t 4+ % < a. Use the model to estimate the monthly inflation rate in -
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¢. When was inflation speeding up? When was inflation
slowing? HINT [See Example 3] €. When wasNmestorSpeeding up? When was inflation
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When p = 8 then g = 100 and when p = 4 then g = 600.
Find a function relating p and q. P-4 Ime,a_(‘
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When p = 40 then g = 8,000 and when p = 60 then g = 6,000.
Find a function relating p and q.

m: b, 000~ ¢, 000 ~ 1000 _sp
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4p06-500p) p = Y6607 - 560
Given the demand function: ¢ = 4000 — 5007 @. ( oo? P ? P
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a. find a revenue function whose variable ~Hoob “Hoeom

sp 1-40-0 2 -5 p (10033,+3)%
b. find a revenue function whose variable > ~Geo - IS 7
isg. -5 : mooag + 3

c. Given a per-item cost (no overhead) of o2 1&+ % N P

$6 per item, find a prefit function whose - - -
variable is ¢ coseY (‘_.'- 6% m C=6 (“.’000 SGOP)

d. Find a cost function whose variable is 2 A4 o600 — 3000?
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¢. Find a profit function for this situatio - ~500 P.,_ +000 e - 240D
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d. Use e to maximize the profit

i. What production quantity maximizes
the profit?

ii. What price point maximizes the ', 1006 p = <2080 - _oc;‘!} =%
profit? =7 —oy ~a4
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9. a. Given the demand function: 4=

and a per-item cost (no overhead) of $2 per item, find a profit function for this situation (using your
favorite strategy from #8)
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Use a to maximize the profit

i. What production quantity maximizes the profit?

ii. What price point maximizes the profit?
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iii. What is the maximum profit?
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and a per-item cost of $2 per item, and an overhead fixed cost of $3000 find a profit function for this
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Use a to maximize the profit
i. What production quantity maximizes the profit?

ii. What price point maximizes the profit? ] Y
iii. What is the maximum profit? ? =" 000 6 1 + 6 6 .
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